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A decree because of a hill in a 2'"';1% — 25297 MW=z 0 2w 9%

OVERVIEW

n"7 ruled that if there is a pillar in a *"737 which is ten 0°19v high and has an
area of 7"v7 (which affords the top of the pillar the status of a "7,
nevertheless), one may not place his load on his pillar. This prohibition is
because we are concerned that if we permit him to place his load on this
pillar (which is a >3, in a *"777) one may place his load on the same type of
pillar (which is a °"77) in the middle of the 72"77, thus transgressing the 710°X
of *"117% 7"17n 110157, Our MoYIN qualifies the ruling of n".
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The 5''9 said that 2'"'9 did not prohibit carrying from the ground floor of

a house to the upper story; the reason is because this -
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Will not cause one to carry from a 2'":19 to an 1199, for the walls (of the
7%y which are between the 1"171 and the 7»°%Y) are apparent and people

will not make a mistake; they will distinguish between 7931 n°2 and 77931 "7 -
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Rather "1 made the 71913 only specifically by a mound in the >'';79 which
can be confused with a mound in the 2''719, for in both instances there are
no walls between the >n and the surrounding nw.

mooIn proves that we can qualify this 77°12 of 2"A:
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For in the beginning of N3 %> P71 the X3 states explicitly that %' made

this 77°12 that one is not permitted An3% on a 1"772 %N -
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Only for instance by a pillar or a water mill which are fixed in their
place, but there is no 77711 by a crushing bowl or movable items. In those

' Seemingly one may think that just as it is prohibited to carry from the *"71 to the 71y (since the Ty is a
[separate] >"771 in its own right), because we are concerned that one may carry from a 7" to this 7Y (in
the 2"7), similarly one should not be permitted to carry from the (ground floor of the) n"a to the 7%y
(which is [also] a >"717 in its own right), for the same 77713 that he will carry from the 1"71 to the 7293.

? See “Thinking it over’.

? This should be amended to R,09.

* These items are not common in the 1"71 therefore there is no 717 (see "Rn).
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case one is permitted 1"772 °5Y ANY even if the are " man 7"v1.

Mmoo discusses this 77
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And the >"1 ruled that even though generally we follow »'1 regarding

his n1913 even if it is opposed by many other o°non -
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As is evident in the beginning of 5'"'¥R P75 regarding this which »''9 said-
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It is forbidden for a man to have his wife with him for even one hour

without a 712303, and we rule like »"9, nevertheless -
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Here (regarding a >"7772 7T17Y) the ruling is not like %'"9 and one may carry from
the >"717 to the Ty —

mooIN proves his point:
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For in n33 ®3 P25 we explicitly rule according to @' who disputes " -
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And maintains whether it is roofs or courtyards or parks they are all
considered as one domain regarding utensils that were there from the
beginning of N2W, meaning -
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That one is permitted to carry from the roof to the 9xm, proving that we do
not follow this 777°1 of »n"A.

SUMMARY
The 77°1 regarding >"7772 20 does not apply to 7231 n°2 (as it does not apply
to 7°7v2un). We do not follow this 77°13 of 2" despite that generally we do.

THINKING IT OVER
Why indeed will people make the mistake from °"792 %n to 1"772 %0, and
why will they not make this mistake by 7%y n»a?®

> We can derive from this ruling that this 771 is not universal, therefore the *"7 is of the opinion that it
applies only when there is a serious concern, but not when there is no concern.

® The omon there argue with »"3 and maintain, 72103 822 2°3W WYw 0w WMWK DX QTR TwH.

7 Carrying from a 3 to a 7%n is similar to carrying from the n (the 3) to the "7 (the ).

8 See WX N (on the 7771 7"7 X3) and AR K.
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